
Smoothing a Piecewise Polynomial 
For each of the following, find all values of a and b for which f(x) is di�erentiable. 

{ 
ax2 

+ bx + 6, x  0; 
a) f(x) = 

2x5 
+ 3x4 

+ 4x2 
�

+ 5x + 6, x > 0. 
{ 

ax2 
+ bx + 6, x 

b) f(x) = 5 4 2 
� 1;

2x + 3x + 4x + 5x + 6, x > 1. 
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a) f
,
(2)= all+ bi+ 6

lim f . (x) = lim E2 (x)
-

x-0 x-0

limf.( = lim fr(l)
7- 0 xIt

2ax+ b = 10x412x3+ 8x+ 5

At x = 0
,

b = 5.:. a = <x/x is a real numetr
b = j

2

(b) limf , (x)= limfz()
xi 11 same for derivatives (

a+b+ 6
= 2+ 3+ 4+5+

6

2a+ b
= 10+ 12+ 8+ 5

atb= 14
2a+ b = 35

a=
2)
,

b= -7


